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Group Quiz Objectives:

=  How to solve math problems from sec 2.3.
= How to write correct math solutions (in each problem, we provide you with an example to show you

how to write a correct solution).

Group Quiz Guidelines:

= Please print out this file, solve together, and submit — in class — on Monday 11™ October, 2010.

» The mark is given to each member of the group.

@ Say Bismillah & Good luck @




1. Evaluate the limit if it exists. (read examples 3, 6, 7, 10 on pages 102, 103, 104, 105)
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(d) Egl ([x ~1]- xz), where [] denotes the greatest integer function.
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2. Sketch the graph of a function f'that satisfies all of the given conditions:

£(0)=0,£(2) =1 lim f(x)=0,lim £(x) =2, lim /(x) = +<0.
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3. Find the vertical asymptotes of the graph of the function

Ay —
J (x):;%i' Explain. (study the infinite limit).
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4. Evaluate the limit if it exists. (read example 11 on page 106).
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